Subject: Re: High number of /proc/user_beancounters failcnt
Posted by kir on Mon, 18 Feb 2008 13:38:39 GMT

View Forum Message <> Reply to Message

JimL wrote on Mon, 18 February 2008 15:18I think what he is trying to ask is more along the lines
of "how big should | make it and if | guess too big, what will be the consequences?" | think
Matarus is on the right track, but the question is still "what are the consequences of running a
resource too high?" Especially if you have a number of VES running into limits.

The reason | jumped in is that I've always been concerned about this issue too.
Right.
System-wide UBC constraints are explained in great details at

http://wiki.openvz.org/UBC_systemwide_configuration. Also, there is a utility that shows you some
numbers using the formulae from the above article.
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